

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private I or Section 4947(a)(1) Nonexem Treated as a Private F Note. The foundation may be able to use a copy of this retu

Department of the Treasury Internal Revenue Service

For calendar year 2011 or tax year beginning

		,
Foundation npt Charitable T Foundation		OMB No 1545-0052
urn to satisfy state repo	rting requirements	<u> </u>
, and ending		
	A Employer identification n	umber
	52-1503237	
Room/suite	B Telephone number 212 708-910	0
	C If exemption application is pen-	ding, check here
er public charity	D 1. Foreign organizations, o	check here
	Foreign organizations meeti 2. check here and attach comp	ing the 85% test, putation
n	E If private foundation status under section 507(b)(1)(A	_
Accrual	F If the foundation is in a 60 under section 507(b)(1)(B	
(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
	N/A	
61,030.	Š	TATEMENT 1
 	<u> </u>	
67,452.		······
2 561		TEATEMENT 2
-3,561. 124,921.		TATEMENT Z
0.		0.
		2.750
0. 12,606.		2,750. 0.
12,000.	-	<u> </u>
39.		0.

Nai	me of foundation			A Employer identificati	on number
C	UNDIOMME : EDWADD V WUFEI	ED ECHNIDATIO	NT.	52-150323	17
	HARLOTTE & EDWARD K WHEEL		Room/su		· · · · · · · · · · · · · · · · · · ·
	nber and street (or P O box number if mail is not delivered to street a	•	Hoom/su	B Telephone number 212 708-9	1100
	/O BESSEMER TRUST, 630 FI	FIR AVENUE			
	y or town, state, and ZIP code EW YORK, NY 10111			C If exemption application is	s pending, check here
G	Check all that apply: Initial return	Initial return of a fo	rmer public charity	D 1. Foreign organization	ons, check here
	Final return	Amended return			
	Address change	Name change		Foreign organizations 2. check here and attach	meeting the 85% test, computation
H	Check type of organization X Section 501(c)(3) ex	empt private foundation	. •	E If private foundation s	status was terminated
		Other taxable private founda	tion	under section 507(b)	
l Fa	ur market value of all assets at end of year J Accounting	ng method X Cash	Accrual	F If the foundation is in	a 60-month termination
	·	her (specify)		under section 507(b)	
	\$ 2,314,419. (Part I, colur		pasis.)	_ ` ` `	
Pa		(a) Revenue and	(b) Net investment	(c) Adjusted net	(d) Disbursements
	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a))	expenses per books	income	income	for charitable purposes (cash basis only)
	1 Contributions, gifts, grants, etc., received			N/A	
	2 Check X if the foundation is not required to attach Sch B		······		
	3 Interest on savings and temporary cash investments			, , , , , , , , , , , , , , , , , , ,	
	4 Dividends and interest from securities	61,089.	61,03	0.	STATEMENT 1
	5a Gross rents				
	b Net rental income or (loss)		······································		
	62 Net gain or (loss) from sale of assets not on line 10	67,452.	***************************************		
Revenue	b Gross sales price for all 1,007,774.	. ,	•••••		
Ş.	7 Capital gain net income (from Part IV, line 2)		67,45	2.	***************************************
æ	8 Net short-term capital gain				
	1	***************************************	***************************************	*****	
2	9 Income modifications 10a Gross sales less returns (1)		•••••••••••		
2012	Drugs Cost of goods sold			***************************************	****
₩			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
	CYGrossprotit orglass 2012	-3,561.	-3,56	1.	STATEMENT 2
	12 Total-Add-lines-1-through-11	124,980.	124,92		
=	13 Compensation of officers, directors, trustees, etc	0.		0.	0.
	14 Other employee salaries and wages	-			
	15 Pension plans, employee benefits				
SS	16a Legal fees				
	b Accounting fees STMT 3	2,750.		0.	2,750.
	c Other professional fees STMT 4	12,606.	12,60	6.	0.
8	17 Interest				
aţi	18 Taxes STMT 5	1,380.	3	9.	0.
istr	19 Depreciation and depletion				
<u>.</u>	20 Occupancy				
Ad	21 Travel, conferences, and meetings				
P	22 Printing and publications				
ğ B	23 Other expenses				
atin	24 Total operating and administrative				
SCAN Operating and Administrative Expens	expenses. Add lines 13 through 23	16,736.	12,64	5.	2,750.
ō	25 Contributions, gifts, grants paid	134,750.			2,750. 134,750.
	26 Total expenses and disbursements.				
	Add lines 24 and 25	151,486.	12,64	5.	137,500.
	27 Subtract line 26 from line 12				
	Excess of revenue over expenses and disbursements	-26,506.			
	b Net investment income (if negative, enter -0-)		112,27		
	c Adjusted net income (if negative, enter -0-)			N/A	
1235 12-02	01 2-11 LHA For Paperwork Reduction Act Notice, see i	nstructions.	·	alu	Form 990-PF (2011)

123001 12-02-11 LHA For Paperwork Reduction Act Notice, see instructions.

Par	Balance Sheets Attached schedules and amounts in the description	Beginning of year	End of	year
rai	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
1	Cash - non-interest-bearing	5,000.	5,000.	5,000
1	Savings and temporary cash investments	182,129.	240,791.	240,791
3	Accounts receivable -			
	Less allowance for doubtful accounts			
4				
	Less allowance for doubtful accounts ▶			
1	Grants receivable			
6	Receivables due from officers, directors, trustees, and other			
	disqualified persons			
7	Other notes and loans receivable			
	Less allowance for doubtful accounts			
8	Inventories for sale or use			
9				
10	a Investments - U.S. and state government obligations STMT 7	434,573.	445,461.	454,370
	b Investments - corporate stock STMT 8	1,575,630.	1,329,622.	1,336,034
1	c Investments - corporate bonds STMT 9	125,957.	145,956.	152,026
11	Investments - land, buildings, and equipment basis		1	
1	Less accumulated depreciation			
12	! Investments - mortgage loans		105 100	106 100
13	Investments - other STMT 10	0.	126,439.	126,198
14	Land, buildings, and equipment basis			
	Less accumulated depreciation			
15	Other assets (describe			
118	Total assets (to be completed by all filers)	2,323,289.	2,293,269.	2,314,419
17				
18				
19				
20	Loans from officers, directors, trustees, and other disqualified persons			
21				
20 21 22	! Other liabilities (describe ▶			
23	Total liabilities (add lines 17 through 22)	0.	0.	
	Foundations that follow SFAS 117, check here			
	and complete lines 24 through 26 and lines 30 and 31.			
24	Unrestricted			
25	Temporarily restricted			
28	·			
	Foundations that do not follow SFAS 117, check here			
	and complete lines 27 through 31.		0 000 000	
27	· · · · · · · · · · · · · · · · · · ·	2,323,289.	2,293,269.	
24 25 25 26 27 28 29	• • • • • • • • • • • • • • • • • • • •	0.	0.	
29	, , , , , , , , , , , , , , , , , , ,	0.	0.	
30	Total net assets or fund balances	2,323,289.	2,293,269.	
31	Total llabilities and net assets/fund balances	2,323,289.	2,293,269.	
	Analysis of Changes in Net Assets or Fund Ba			-
	al net assets or fund balances at beginning of year - Part II, column (a), line (ust agree with end-of-year figure reported on prior year's return)	30	1	2,323,289
-	er amount from Part I, line 27a		2	-26,506
	er increases not included in line 2 (itemize)		3	20,300
	I lines 1, 2, and 3		4	2,296,783
	creases not included in line 2 (itemize)	SEE STA	TEMENT 6 5	3,514
	al net assets or fund balances at end of year (line 4 minus line 5) - Part II, col		6	2,293,269

Part	V Capital Gains a	and Losses for Tax on li	nvestmen	t Income					
		ibe the kind(s) of property sold (e grehouse, or common stock, 200 sh			P-	ow acquired Purchase Donation		acquired lay, yr)	(d) Date sold (mo , day, yr)
1a PU	BLICITY TRADI	ED SECURITIES				P	VARI	OUS	VARIOUS
b PU	BLICITY TRADI	ED SECURITIES				P	VARI	OUS	VARIOUS
	TIGATION SEC					P	VARI	OUS	VARIOUS
d CA	PITAL GAINS I	DIVIDENDS							
<u></u>	·				<u>L</u>				<u></u> _
(e) Gross sales price	(f) Depreciation allowed (or allowable)		st or other basis expense of sale				iain or (loss s (f) minus	(g)
<u>a</u>	712,964.			641,83					71,130.
<u>b</u>	274,524.			298,48	8.				-23,964.
	29.								29.
<u>d</u>	20,257.			· · · · · ·					20,257.
8			<u> </u>	10/04/00					
Com	iplete only for assets showing	g gain in column (h) and owned by	T					Col. (h) gair not less tha	
(1)	F M V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col (I) col (J), If any			Losses	(from col	(h))
<u>a</u>					-				71,130.
<u>b</u>									-23,964.
									29.
		· · · · · · · · · · · · · · · · · · ·							20,257.
			l						
2 Capita	al gain net income or (net cap	oital loss) { If gain, also enter of the lift (loss), enter of the lif			} [2			67,452.
3 Net si	hort-term capital gain or (los:	s) as defined in sections 1222(5) ar	nd (6)						
	n, also enter in Part I, line 8, c				1	}		/-	
	s), enter -0- in Part I, line 8		D-disa-ad	Tour on No.	1	3		N/A	7
		nder Section 4940(e) for			_		ome		
(For option	onal use by domestic private	foundations subject to the section	4940(a) tax on	net investment in	come)				
If section	4940(d)(2) applies, leave th	ıs part blank							
Was the	foundation liable for the eact	ion 4942 tax on the distributable am	nount of any ve	ar in the hace ner	und2				Yes X No
		fy under section 4940(e). Do not co			iou ·				163 [42] 140
		ach column for each year, see instr			es .				
	(a)	(b)		, , , , , , , , , , , , , , , , , , , ,	(c)	···			(d)
Calend	Base period years Iar year (or tax year beginnin	Advisted avalifying dia	tributions	Net value of nor		able-use assets			bùtión ratio vided by col. (c))
	2010		6,253.		2,	471,098			.063232
	2009		8,525.			314,348			.059855
	2008		8,288.			681,429			.062761
	2007		2,735.			084,927			.065718
	2006	15	8,723.		2,	911,641	•		.054513
_								_	
2 Total	of line 1, column (d)						2		.306079
3 Avera	ge distribution ratio for the 5	-year base period - divide the total of	on line 2 by 5,	or by the number	of year	s			
the fo	undation has been in existen	ce if less than 5 years					3		.061216
4 Enter	the net value of noncharitable	e-use assets for 2011 from Part X, I	line 5				4		2,547,494.
							•		
5 Multip	ly line 4 by line 3						5		155,947.
6 Enter	1% of net investment incomi	e (1% of Part I, line 27b)					6		1,123.
									150 000
7 Add II	nes 5 and 6						7		157,070.
8 Enter	qualifying distributions from	Part XII, line 4					8		137,500.
		line 7, check the box in Part VI, line	1b, and como	lete that part using	a 1%	tax rate			
	e Part VI instructions		, ovinp	part domy	- , ,,				

	990-PF (2011) CHARLOTTE & EDWARD K WHEELER FOUNDATION !	52-150 948 - se			Page 4 ns)
	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1		··		-
• •	Date of ruling or determination letter (attach copy of letter if necessary-see instructions)				
h	Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1%	1		2,2	46.
	of Part I, line 27b				
c	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, col (b)				
	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	2			0.
	Add lines 1 and 2	3		2,2	46.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	4			0.
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0-	5		2,2	46.
	Credits/Payments				***************************************
	2011 estimated tax payments and 2010 overpayment credited to 2011 6a 1,300.				
	Exempt foreign organizations - tax withheld at source				
	Tax paid with application for extension of time to file (Form 8868)				
	Backup withholding erroneously withheld 6d 6d				
	Total credits and payments Add lines 6a through 6d	7		1,3	00.
	Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is attached	8	•	•	
	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed	9		9	46.
-	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10			
	Enter the amount of line 10 to be: Credited to 2012 estimated tax ▶ Refunded ▶	11			
	rt VII-A Statements Regarding Activities				
	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene	n		Yes	No
	any political campaign?		1a		X
h	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definition)?		1b		X
_	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published	d or			
	distributed by the foundation in connection with the activities.				
C	Did the foundation file Form 1120-POL for this year?		10		Х
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year				
	(1) On the foundation ► \$ 0 . (2) On foundation managers ► \$				
	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation				
Ĭ	managers ▶ \$ 0.				
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?		2		Х
-	If "Yes," attach a detailed description of the activities.				
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or				
•	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		3		Х
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?		4a		X
	If "Yes," has it filed a tax return on Form 990-T for this year?	N/A	4b		
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?		5		X
-	If "Yes," attach the statement required by General Instruction T.				
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either				
	By language in the governing instrument, or				
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state	law			
	remain in the governing instrument?		6	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year?		7	X	
	If "Yes," complete Part II, col. (c), and Part XV.				
	Enter the states to which the foundation reports or with which it is registered (see instructions)		_		
	DC		_		
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)				
	of each state as required by General Instruction G? If "No," attach explanation		86	X	
9	is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for caler	dar			
	year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV		9		X
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses		10		X
		F	orm 990	-PF(2011)

Total. Add lines 1 through 3

Page 8

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes 2,581,288. a Average monthly fair market value of securities 1a 5,000. 1b b Average of monthly cash balances c Fair market value of all other assets 10 2,586,288. 1d d Total (add lines 1a, b, and c) e Reduction claimed for blockage or other factors reported on lines 1a and 0. 18 1c (attach detailed explanation) Acquisition indebtedness applicable to line 1 assets 2,586,288. 3 Subtract line 2 from line 1d 3 38,794. 4 Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see instructions) 5 Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4 Minimum investment return. Enter 5% of line 5 Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here

and do not complete this part) 127,375. Minimum investment return from Part X, line 6 2,246. 2a Tax on investment income for 2011 from Part VI, line 5 2b Income tax for 2011 (This does not include the tax from Part VI) 2¢ Add lines 2a and 2b 3 Distributable amount before adjustments. Subtract line 2c from line 1 3 Recoveries of amounts treated as qualifying distributions 4 5 Add lines 3 and 4 6 Deduction from distributable amount (see instructions) 7 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1 Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes 137,500. a Expenses, contributions, gifts, etc - total from Part I, column (d), line 26 1a 1b b Program-related investments - total from Part IX-B 2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes 2 Amounts set aside for specific charitable projects that satisfy the 3 3a a Suitability test (prior IRS approval required) b Cash distribution test (attach the required schedule) 3b 137,500. 4 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 5 income Enter 1% of Part I, line 27b Adjusted qualifying distributions. Subtract line 5 from line 4 Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years

Part XIII Undistributed Income (see I	nstructions)			
	(a) Corpus	(b) Years prior to 2010	(c) 2010	(d) 2011
1 Distributable amount for 2011 from Part XI, line 7				125,129
2 Undistributed income, if any, as of the end of 2011				
a Enter amount for 2010 only			0.	*******************************
b Total for prior years		0.		
3 Excess distributions carryover, if any, to 2011				
a From 2006				
b From 2007				
c From 2008				
d From 2009 16,639.				
e From 2010 86,055.	100 604			
f Total of lines 3a through e	102,694.			
4 Qualifying distributions for 2011 from Part XII, line 4 ►\$ 137,500.				
a Applied to 2010, but not more than line 2a	***************************************		0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions) **	137,500.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
d Applied to 2011 distributable amount				0 .
e Remaining amount distributed out of corpus	0.	***************************************		100 604
5 Excess distributions carryover applied to 2011 (If an amount appears in column (d), the same amount must be shown in column (a))	102,694.			102,694
6 Enter the net total of each column as indicated below:				
2 Corpus Add lines 3f, 4c, and 4e Subtract line 5	137,500.			
b Prior years' undistributed income Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2010. Subtract line				
4a from line 2a Taxable amount - see instr			0.	
f Undistributed income for 2011 Subtract				
lines 4d and 5 from line 1. This amount must				22,435
be distributed in 2012				22,433
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by	0.			
section 170(b)(1)(F) or 4942(g)(3)	0.			·····
8 Excess distributions carryover from 2006	0.			
not applied on line 5 or line 7				
9 Excess distributions carryover to 2012. Subtract lines 7 and 8 from line 6a	137,500.			
10 Analysis of line 9	10,73001		***************************************	
a Excess from 2007				
b Excess from 2008				
c Excess from 2009				
d Excess from 2010	į			
8 Excess from 2011 137,500.				

123581 12-02-11

** SEE STATEMENT 11

Enter gross amounts unless otherwise indicated	Unrelated b	usiness income		y section 512, 513, or 514	(e)
	(a) Business	(b)	(C) Exclu-	(d)	Related or exempt
1 Program service revenue	code	Amount	sion code	Amount	function income
a					
b					
C					
d					
0					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments					
4 Dividends and interest from securities			14	61,089.	
5 Net rental income or (loss) from real estate					
a Debt-financed property					
b Not debt-financed property					
6 Net rental income or (loss) from personal			1 1		
property					
7 Other investment income			01	-3,561.	
8 Gain or (loss) from sales of assets other					
than inventory			18	67,452.	
9 Net income or (loss) from special events			 		
O Gross profit or (loss) from sales of inventory					
1 Other revenue					
a					····
b					
C			 		
d			 		
8				124 000	
2 Subtotal Add columns (b), (d), and (e)		0.	•	124,980.	
3 Total. Add line 12, columns (b), (d), and (e)				13	124,960
See worksheet in line 13 instructions to verify calcula	itions)				
Part XVI-B Relationship of Activ	rities to the Accom	plishment of E	xempt Pı	ırposes	
Line No. Explain below how each activity for wh	high income is reported in a	olumn (a) of Part VIII-	A contributed	importantly to the accomp	dichment of
Line No. Explain below how each activity for with the foundation's exempt purposes (of			H COMMIDATED	importantly to the accomp	maintent of
▼ moromosamon o exempt purposes (ex		To			
					
					
				· -	
					-

123621 12-02-11

	O C VAII	_ Information h . Exempt Organ		isiers 10	and Transactions	and Relations	inips with Noncha	ritabio	•	
1	Did the o			of the follows	ng with any other organizati	lon departhed in each	tion EO1/a) of	 	Yes	No
•					27, relating to political orga		10 (3)1 06 1101		163	140
9		from the reporting found				IIIZations r				ĺ
u	(1) Cast	·	Janon to a nonchand	anie exempt oi	iganization of			10/11		х
	(2) Othe							1a(1)		X
h	Other trai							1a(2)		
U		s of assets to a noncharit	able exempt organize	tion				16/1		Х
	• •	hases of assets from a no	. •					1b(1)		X
	•	al of facilities, equipment,	•	viganization				1b(2)		X
		ar or racingles, equipment; bursement arrangements						1b(3)		X
		is or loan guarantees	,					1b(4)		X
	•	ormance of services or m	ambarchin or fundra	icina calicitati	one			1b(5) 1b(6)		$\frac{x}{x}$
C	-	of facilities, equipment, m		-				10(0)		$\frac{\dot{x}}{x}$
d			-			lwave chow the fair r	narket value of the goods, o	لـــــــــــــــــــــــــــــــــــــ	etc	
•				_			or sharing arrangement, s		013,	
		d) the value of the goods,			ou loos than lan thanlot var	ao in any tranoadito	or onaring unungument, o			
(a) L	ine no	(b) Amount involved	,		e exempt organization	(d) Description	n of transfers, transactions, and s	haring an	angeme	nts
<u>··</u>		<u>(-/ </u>		N/A		(-/				

	in section	501(c) of the Code (othe omplete the following sch	er than section 501(c nedule					☐ Yes	X] No
		(a) Name of or	janization		(b) Type of organization		(c) Description of relationsh	ib		
		N/A							_	
										—
_					· -					
						1				
Sig He	n and b				ng accompanying schedules and n taxpayer) is based on all Inform		has any knowledge retui	the IRS of with the vn below	prepare	∍r
	F_	nature of officer or trustee	j	,	Date	Title				
		Print/Type preparer's na	ame	Preparer's s	ignature /	Date	Check if PTIN			
				1/1.0	///	1 1/2/1/2	self- employed			
Pa		VIRGINIA C		Vuqu	nea M	5/7/12		367		
	parer	Firm's name ► BES	SEMER TRU	ST A		• •	Firm's EIN ► 13-27	921	65	
Us	e Only	5	0 57555	<u> </u>	24mm 27.005					
			W YORK, N		34TH FLOOR		Phone no 212-7	NΩ	a 1 n /	า
		I INE	W IORK, N	1 1011	1-0333			m 990		
							FUI	いっつつひ		.011)

FORM 990-PF DIVIDEND	S AND	INTER	EST FROM	SECU	JRITIES	STATEMENT	1
SOURCE		GROSS	AMOUNT		PITAL GAINS DIVIDENDS	COLUMN (A AMOUNT)
BESSEMER TRUST A/C	•		81,346.		20,257.	61,0	89.
TOTAL TO FM 990-PF, PART I, I	JN 4		81,346.		20,257.	61,0	89.
FORM 990-PF	0'	THER I	NCOME		3 S min 10 -	STATEMENT	2
DESCRIPTION			(A) REVENUE PER BOOK	S	(B) NET INVEST- MENT INCOME	(C) ADJUSTE NET INCO	
BESSEMER TRUST A/C			-3,	561.	-3,561	•	
TOTAL TO FORM 990-PF, PART I,	LINE	11	-3,	561.	-3,561		
FORM 990-PF	AC	COUNTI	NG FEES		1 111	STATEMENT	3
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INV MENT IN		(C) ADJUSTED NET INCOME	(D) CHARITAI E PURPOSI	
FINANCIAL SERVICE FEES		2,750.		0.	•	2,7	50.
TO FORM 990-PF, PG 1, LN 16B		2,750.		0.		2,7	50.
FORM 990-PF C	THER	PROFES	SIONAL F	EES		STATEMENT	4
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INVI MENT INC	EST-	(C) ADJUSTED NET INCOME	(D) CHARITAI E PURPOSI	
TANDORNEN VANAGENENE							
INVESTMENT MANAGEMENT FEES-BESSEMER TRUST	13	2,606.	12	,606.	•		0.

•

FORM 990-PF	TAX	ES		_	STATEMENT	
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVE MENT INC		(C) ADJUSTEI NET INCOM		ABLE
FOREIGN TAX EXCISE TAX	39. 1,341.		39.			0.
TO FORM 990-PF, PG 1, LN 18	1,380.		39.			0.
FORM 990-PF OTHER DECREASE	ES IN NET AS	SETS OR F	UND B.	ALANCES	STATEMENT	6
DESCRIPTION					AMOUNT	ı
ACCOUNT RECEIVABLE INGERSOLL-ADJUSTMENT						328. 186.
MODAL MO BODM 000 DE DADM T	TT TINE 5				3	514.
TOTAL TO FORM 990-PF, PART 1.	II, LINE 3					514.
	STATE/CITY G	OVERNMENT	OBLI	GATIONS	STATEMENT	
FORM 990-PF U.S. AND S		• OTHER	<u> </u>	GATIONS K VALUE		7
FORM 990-PF U.S. AND S DESCRIPTION	STATE/CITY G	• OTHER	<u> </u>		STATEMENT	7 ET
FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED	STATE/CITY GOV'	• OTHER	<u> </u>	K VALUE	STATEMENT FAIR MARK VALUE	7 ET
FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED TOTAL U.S. GOVERNMENT OBLIGAT	STATE/CITY GU.S GOV' X	OTHER GOV'T	<u> </u>	K VALUE 445,461.	STATEMENT FAIR MARK VALUE 454,	7 ET
FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED TOTAL U.S. GOVERNMENT OBLIGAT TOTAL STATE AND MUNICIPAL GOV	STATE/CITY GUS GOV''X TIONS VERNMENT OBL	OTHER GOV'T	<u> </u>	K VALUE 445,461.	STATEMENT FAIR MARK VALUE 454,	7 ET 370.
FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED TOTAL U.S. GOVERNMENT OBLIGAT TOTAL STATE AND MUNICIPAL GOVERNMENT TOTAL TO FORM 990-PF, PART IN	STATE/CITY GUS GOV''X TIONS VERNMENT OBL	OTHER T GOV'T	<u> </u>	445,461. 445,461.	FAIR MARK VALUE 454,	7 ET 370. 370.
TOTAL TO FORM 990-PF, PART IT FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED TOTAL U.S. GOVERNMENT OBLIGAT TOTAL STATE AND MUNICIPAL GOV TOTAL TO FORM 990-PF, PART IT FORM 990-PF	U.S GOV' X TIONS VERNMENT OBL I, LINE 10A	OTHER T GOV'T	B001	445,461. 445,461.	FAIR MARK VALUE 454, 454,	7 ET 370. 370.
FORM 990-PF U.S. AND S DESCRIPTION SEE SCHEDULE ATTACHED TOTAL U.S. GOVERNMENT OBLIGAT TOTAL STATE AND MUNICIPAL GOV TOTAL TO FORM 990-PF, PART II	U.S GOV' X TIONS VERNMENT OBL I, LINE 10A	OTHER T GOV'T	BOO	K VALUE 445,461. 445,461.	STATEMENT FAIR MARK VALUE 454, 454, STATEMENT FAIR MARK	7 ET 370. 370.

FORM 990-PF	CORPORATE B	ONDS	STATEMENT	9
DESCRIPTION		BOOK VALUE	FAIR MARKE VALUE	T.
SEE SCHEDULE ATTACHED		145,956.	152,0	26.
TOTAL TO FORM 990-PF, PART II	, LINE 10C	145,956.	152,0	26.
FORM 990-PF	OTHER INVEST	MENTS	STATEMENT	10
DESCRIPTION	VALUA METH		FAIR MARKE VALUE	T
SEE SCHEDULE ATTACHED	cos	T 126,439.	126,1	98.
TOTAL TO FORM 990-PF, PART II	, LINE 13	126,439.	126,1	98.

C and E Wheeler Foundation A/C # 8G6016 EIN: 52-1503237

TAX YEAR ENDED: 12/31/11

Supplemental Schedule of Information

Part XV, Line 3a, Grants and Contributions Paid During the Year **

DATE	CHARITABLE GIFTS TO DONEES	CITY & STATE	AMOUNT
01/10/2011	NEW YORK CITY BALLET	NEW YORK, NY	(\$890.00)
02/15/2011	NEW YORKERS FOR CHILDREN	NEW YORK, NY	(\$1,060.00)
02/15/2011	NEW YORK PUBLIC LIBRARY	NEW YORK, NY	(\$1,000.00)
04/27/2011	THE WALKABOUT FOUNDATIION	GREENWICH, CT	(\$300.00)
05/02/2011	CAMBODIAN CHILREN'S FUND	SANTA MONICA, CA	(\$500.00)
05/12/2011	LENOX HILL NEIGHBORHOOD HOUSE	NEW YORK, NY	(\$7,500.00)
06/27/2011	NEW YORK CITY BALLET	NEW YORK, NY	(\$1,500 00)
07/06/2011	LENOX HILL NEIGHBORHOOD HOUSE	NEW YORK, NY	(\$9,250.00)
08/26/2011	ANIMAL RESCUE FUND OF THE HAMPTONS	WAINSCOTT, NY	(\$1,000.00)
09/12/2011	NEW YORKERS FOR CHILDREN	NEW YORK, NY	(\$1,000.00)
09/15/2011	SCHOOL OF AMERICAN BALLET	NEW YORK, NY	(\$1,500.00)
09/27/2011	SAVE THE CHILDREN	WESTPORT, CT	(\$1,000.00)
10/04/2011	HOPE HOUSE OF COLORADO	ARVADA, CO	(\$1,500.00)
10/11/2011	NEW YORK POLICE AND FIRE WIDOWS AND CHILDRENS BENEFIT FUND	NEW YORK, NY	(\$2,000.00)
10/17/2011	MUSEUM OF THE CITY OF NEW YORK	NEW YORK, NY	(\$500.00)
11/08/2011	HOPE HOUSE OF COLORADO	ARVADA, CO	(\$1,000.00)
11/08/2011	LIGHT UP A LIFE	SANTA ANA, CA	(\$500.00)
11/14/2011	COLD SPRING HARBOR LABORATORY	COLD SPRING HARBOR, NY	(\$750.00)
11/15/2011	THE SOCIETY OF MSKCC	NEW YORK, NY	(\$4,500.00)

C and E Wheeler Foundation A/C# 8G6016 EIN: 52-1503237

TAX YEAR ENDED: 12/31/11

Supplemental Schedule of Information

Part XV, Line 3a, Grants and Contributions Paid During the Year **

DATE	CHARITABLE GIFTS TO DONEES	CITY & STATE	AMOUNT
11/30/2011	BAL SWAN CHILDREN'S CENTER	BROOMFIELD, CO	(\$2,000.00)
12/05/2011	BAL SWAN CHILDREN'S CENTER	BROOMFIELD, CO	(\$1,000.00)
12/05/2011	BURTON K. WHEELER CENTER	BOZEMAN, MT	(\$5,000 00)
12/05/2011	MADEIRA SCHOOL	MCLEAN, VA	(\$1,000.00)
12/05/2011	MILITARY ORDER OF THE PURPLE HEART	DENTON, MD	(\$500.00)
12/05/2011	NATIONAL GALLERY OF ART	LANDOVER, MD	(\$10,000.00)
12/05/2011	POTOMAC BRIDLE AND HIKING TRAISL ASSOCIATIN	POTOMAC, MD	(\$2,500.00)
12/05/2011	GLOBAL MIDWIFE EDUCATION	LIVINGSTON, MT	(\$1,000.00)
12/05/2011	VASSAR COLLEGE	POUGHKEEPSIE, NY	(\$1,000.00)
12/05/2011	CRAZY MOUNTAIN PRODUCTIONS	LIVINGSTON, MT	(\$500.00)
12/05/2011	MANAIA YOUTH PROGRAMS	LIVINGSTON, MT	(\$2,000.00)
12/05/2011	POTOMAC SCHOOL	MCLEAN, VA	(\$1,000.00)
12/05/2011	YELLOWSTONE BALLET COMPANY	LIVINGSTON, MT	(\$500.00)
12/05/2011	GLACIER FUND	WEST GLACIER, MT	(\$3,500.00)
12/05/2011	LIVINGSTON YOUTH SOCCER ASSOCIATION	LIVINGSTON, MT	(\$4,500.00)
12/05/2011	LIVINGSTON EDUCATION FOUNDATION	LIVINGSTON, MT	(\$5,000.00)
12/05/2011	LIVINGSTON CENTER FOR ART & CULTURE	LIVINGSTON, MT	(\$2,000.00)
12/06/2011	HOPE HOUSE OF COLORADO	ARVADA, CO	(\$2,500.00)
12/06/2011	DANA-FARBER CANCER INSTITUTE	BOSTON, MA	(\$1,000.00)

C and E Wheeler Foundation A/C# 8G6016 EIN: 52-1503237

TAX YEAR ENDED: 12/31/11

Supplemental Schedule of Information

Part XV, Line 3a, Grants and Contributions Paid During the Year **

DATE	CHARITABLE GIFTS TO DONEES	CITY & STATE	AMOUNT
12/06/2011	DARTMOUTH COLLEGE	HANOVER, NH	(\$1,000.00)
12/06/2011	GLACIER NATIONAL PARK FUND	COLUMBIA FALLS, MT	(\$6,000.00)
12/06/2011	KELLOGG SCHOOL OF MANAGEMENT	EVANSTON, IL	(\$500.00)
12/06/2011	THE RED CROSS	WASHINGTON, DC	(\$2,000.00)
12/06/2011	BURTON K. WHEELER CENTER	BOZEMAN, MT	(\$1,500.00)
12/13/2011	AMERICAN LEGION	NEW YORK, NY	(\$50.00)
12/13/2011	BIG BROTHERS BIG SISTERS OF PARK COUNTY	LIVINGSTON, MT	(\$180.00)
12/13/2011	CRAZY MOUNTAIN PRODUCTIONS	LIVINGSTON, MT	(\$5,000.00)
12/13/2011	CREADLE SCHOOL OF ART	WINTER PARK, FL	(\$180.00)
12/13/2011	MANAIA YOUTH PROGRAMS	LIVINGSTON, MT	(\$1,000.00)
12/13/2011	MCNAIR SKATE PARK	LIVINGSTON, MT	(\$180.00)
12/13/2011	NATIONAL PARK FOUNDATION	WASHINGTON, DC	(\$50.00)
12/13/2011	SHE CAN INC.	LIVINGSTON, MT	(\$180.00)
12/13/2011	YELLOWSTONE BALLET COMPANY	LIVINGSTON, MT	(\$5,000.00)
12/13/2011	LIVINGSTON CENTER FOR ART & CULTURE	LIVINGSTON, MT	(\$3,000 00)
12/13/2011	GLACIER NATIONAL PARK FUND	COLUMBIA FALLS, MT	(\$180.00)
12/13/2011	WHEELER CENTER	BOZEMAN, MT	(\$5,000.00)
12/21/2011	ANN NORTON SCULPTURE GARDENS FESTIVAL OF TREES	WEST PALM BEACH, FL	(\$1,500.00)
12/21/2011	GLADES ACADEMY OF AGRICULTURE AND ECOLOGICAL STUDIES	PALM BEACH, FL	(\$1,000.00)

C and E Wheeler Foundation A/C # 8G6016 EIN: 52-1503237

TAX YEAR ENDED: 12/31/11

Supplemental Schedule of Information

Part XV, Line 3a, Grants and Contributions Paid During the Year **

DATE	CHARITABLE GIFTS TO DONEES	CITY & STATE	AMOUNT
12/21/2011	EVERGLADES PREPARATORY ACADEMY	PALM BEACH, FL	(\$1,000.00)
12/21/2011	THE COLONIAL DAMES OF AMERICA	NEW YORK, NY	(\$500.00)
12/21/2011	PRESERVATION FOUNDATION OF PALM BEACH	PALM BEACH, NY	(\$500.00)
12/21/2011	SOCIETY OF THE FOUR ARTS	PALM BEACH, NY	(\$1,000.00)
12/21/2011	THUNDERBIRD SCHOOL OF GLOBAL MANAGEMENT	GLENDALE, AZ	(\$1,000.00)
12/21/2011	MIDDLEBURY COLLEGE	MIDDLEBURY, VT	(\$2,000.00)
12/21/2011	MONTANA HISTORY FOUNDATION	HELENA, MT	(\$3,500.00)
12/21/2011	MONTANA HISTORICAL SOCIETY	HELENA, MT	(\$500.00)
12/21/2011	THE BATH AND TENNIS CLUB HISTORIC BUILDING PRESERVATION FOUNDATION	PALM BEACH, FL	(\$500.00)
12/21/2011	PALM BEACH DAY ACADEMY	PALM BEACH, FL	(\$5,000.00)
12/21/2011	WHEELER CENTER	BOZEMAN, MT	(\$1,500.00)
12/22/2011	GUNSTON HALL REGENTS FUND	MASON NECK, VA	(\$500.00)
		<u> </u>	(\$134.750.00\

(\$134,750.00)

^{**}Contributions are made to these organizations to assist them in carrying out those activities for which they have been granted tax exempt status.

FORM 990-PF

ELECTION UNDER REGULATIONS SECTION
53.4942(A)-3(D)(2) TO TREAT
EXCESS QUALIFYING DISTRIBUTIONS
AS DISTRIBUTIONS OUT OF CORPUS

STATEMENT 11

PURSUANT TO IRC SECTION 4942(H)(2)AND REGULATIONS 53.4942(A)-3(D)(2), THE CHARLOTTE & EDWARD K WHEELER FOUNDATION HEREBY ELECTS TO TREAT AS A CURRENT YEAR'S QUALIFYING DISTRIBUTIONS IN EXCESS OF THE IMMEDIATELY PRECEDING YEAR'S UNDISTRIBUTED INCOME AS BEING MADE OUT OF CORPUS.

SIGNATURE

NAME

JNO

TITLE

4)
1
_
4
Ę
9
ssem
á
\mathbf{x}

Account Details

Page 4 of 10

Report dated December 30, 2011

Amortized tax cost Trade date basis

C. AND E. WHEELER FOUNDATION AND SHORT TERM 0.000 IVANILABLE 0.000 INCOME CASH 0.000 INCOME CASH 0.000 ASH AVAILABLE 0.000 ASH EQUIVALENTS 103,814.650 ASH EQUIVALENTS 137,000.000 ASH AND SHORT TERM 137,000.000 TEGIC CURRENCY HK DOLLAR DEPOSIT - BNYM ASG DOLLAR DEPOSIT - BNYM 404,071.200	9127953N9	0.000 0.000 0.000 103,814.650	\$0.00 \$0.00 \$0.00 \$1.00	\$000 \$0 \$0 \$,000 \$103,814 \$103,814	\$0.000 \$0.000 \$0.000 \$1.000	\$000 \$0 \$5,000 \$103,814	%0.0 %0.0	0\$		
0.000 0.000	9127953N9	0.000 0.000 0.000 103,814.650	\$0.00 \$0.00 \$0.00 \$1.00 \$1.00	\$000 \$0 \$5,000 \$103,814 \$103,814 \$136,977		\$0 \$0 \$0 \$ \$0 \$ \$0 \$ \$0 \$ \$0 \$ \$0 \$ \$0	%0.0 0.0%	0\$		
PAL CASH	9127953N9	0.000 0.000 0.000 103,814.650	\$0.00	\$000 \$0 \$,000 \$5,000 \$103,814 \$103,814		\$0 \$0 \$700 \$103,814	%0.0 0.0%	\$0		
PRINCIPAL CASH 0.000 INCOME CASH 0.000 ASH AVAILABLE 0.000 ASH AVAILABLE 0.000 SQUIVALENTS 103,814.650 ASH EQUIVALENTS 103,814.650 ASH EQUIVALENTS 103,814.650 S & ST DISC AGENCIES 137,000.000 US TREASURY BILLS 05/03/2012 9127953N9 137,000.000 BESILLS & ST DISC AGENCIES 137,000.000 \$ ASH AND SHORT TERM 404,071.200 HK DOLLAR DEPOSIT - BNYM 42,029.000 SG DOLLAR DEPOSIT - BNYM 42,029.000	9127953N9	0.000 0.000 0.000 103,814.650	\$0.00	\$000 \$0 \$,000 \$103,814 \$103,814 \$136,977		\$0 \$0 \$7,00 \$103,814	%0.0 0.0%	0\$	1	
INCOME CASH 0.000 NET CASH 0.000 ASH AVAILABLE 0.000 SQUIVALENTS 103,814,650 ASH EQUIVALENTS 103,814,650 S& ST DISC AGENCIES 137,000.000 US TREASURY BILLS 05/03/2012 9127953N9 137,000.000 BELLS & ST DISC AGENCIES ASH AND SHORT TERM 404,071.200 TEGIC CURRENCY 42,029.000 SG DOLLAR DEPOSIT - BNYM 42,029.000	9127953N9	0.000	\$0.00	\$0 \$ \$,000 \$ \$,000 \$103,814 \$103,814		\$ 5,00		\$0	\$0	
SWEEP PROGRAM SWEEP PROGRAM TS NCIES NCIES RY BILLS 05/03/2012 9127953N9 137,000.000 \$ ENCY CDEPOSIT - BNYM 404,071.200 1 DEPOSIT - BNYM 1 0.000 1 0.00	9127953N9	0.000	\$1.00	\$ 5,000 \$ 5,000 \$103,814 \$103,814 \$136,977		\$ 5.00			\$0	
SWEEP PROGRAM 103,814.650 TS NCIES RY BILLS 05/03/2012 9127953N9 137,000.000 \$ AGENCIES TERM ENCY DEPOSIT - BNYM 404,071.200	9127953N9	103,814.650	\$1.00	\$103,814 \$103,814 \$103,814		\$103,814	%0.0 0	\$0	\$0	
EN SWEEP PROGRAM 103,814.650 ENTS SENCIES SURY BILLS 05/03/2012 9127953N9 137,000.000 \$ SC AGENCIES RT TERM AR DEPOSIT - BNYM 404,071.200 AR DEPOSIT - BNYM 42,029.000	9127953N9	103,814.650	\$1.00	\$103,814 \$103,814 \$136,977	\$1.000 BOOK	\$103,814	0 0.0%	\$0	\$0	
ASH EQUIVALENTS 103,814.650 S & ST DISC AGENCIES 9127953N9 137,000.000 \$ LUS TREASURY BILLS 05/03/2012 9127953N9 137,000.000 \$ -BILLS & ST DISC AGENCIES ASH AND SHORT TERM 137,000.000 \$ TEGIC CURRENCY HK DOLLAR DEPOSIT - BNYM 404,071.200 SG DOLLAR DEPOSIT - BNYM 42,029.000	9127953N9	103,814.650	\$1.00	\$103,814 \$103,814 \$136,977	\$1.000 BOOK	\$103,814				
ES	9127953N9	137,000.000	\$99.98	\$103,814	BOOK	4400 044	43.1%	\$0	\$10	0.01%
LS 05/03/2012 9127953N9 137,000.000 \$ CIES SIT - BNYM 404,071.200 SIT - BNYM 42,029.000	9127953N9	137,000.000	\$99.98	\$136,977	BOOK	\$103,814	43.1%	\$0	\$10	0.01%
LS 05/03/2012 9127953N9 137,000.000 \$ CIES SIT - BNYM 404,071.200 SIT - BNYM 42,029.000	9127953N9	137,000.000	\$99.98	\$136,977	BOOK					
CIES SIT - BNYM 404,071.200 SIT - BNYM 42,029.000						\$136,977	26.9%	\$0	\$40	0.03%
SIT - BNYM 404,071.200 SIT - BNYM 42,029.000				\$136,977		\$136,977	26.9%	0\$	\$40	0.03%
SIT - BNYM 404,071.200 SIT - BNYM 42,029.000				\$245,791		\$245,791	100.0%	\$0	\$50	0.02%
HK DOLLAR DEPOSIT - BNYM SG DOLLAR DEPOSIT - BNYM 404,071.200 42,029.000										
SG DOLLAR DEPOSIT - BNYM 42,029.000		404,071.200	\$0.13	\$52,000	\$0.129	\$52,003	41.2%	\$3	\$0	0.00%
		42,029.000	\$0.77	\$32,500	\$0.772	\$32,429	25.7%	(\$70)	\$0	0.00%
603905 NO KRONE DEPOSIT - BNYM 154,011.000 \$		154,011.000	\$0.17	\$26,000	\$0.168	\$25,827	20.5%	(\$172)	\$184	0.71%
605213 US DOLLAR DEPOSIT - BNYM 15,939.380 \$		15,939.380	\$1.00	\$15,939	\$1.000	\$15,939	12.6%	\$0	ο ς	0.00%
Total STRATEGIC CURRENCY		e.		\$126,439		\$126,198	100.0%	(\$239)	\$184	0.15%
FIXED INCOME										
US GOVT AND AGENCY BONDS										
105645 FEDERAL HOME LOAN BANK 06/08/2012 3133XWKU2 15,000.000 \$10	3133XWKU2		\$100.55	\$15,082	\$100.527	\$15,079	2.5%	(\$2)	\$206	1.37%
154109 FEDERAL HOME LOAN BANK 3.750% 06/14/2013 3133XR5U0 100,000.000 \$9	3133XR5U0	100,000.000	\$99.51	\$99,509	\$104.811	\$104,811	17.3%	\$5,302	\$3,750	3.58%
105640 FEDERAL HOME LOAN BANK 03/13/2015 3133XWX95 65,000.000 \$10	3133XWX95	65,000.000	\$105.19	\$68,376	\$106.443	\$69,188	11 4%	\$811	\$1,787	2.58%
109116 US TREASURY NOTES 12/31/2017 912828PN4 242,000.000 \$10	912828PN4		\$108.47	\$262,494	\$109.625	\$265,292	43.7%	\$2,798	\$6,655	2.51%
Total US GOVT AND AGENCY BONDS				\$445,461		\$454,370	74.9%	\$8,909	\$12,398	2.73%

Market prices are updated nightly and therefore will not reflect pricing changes made intraday. As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

ļ
1
$\overline{\mathbf{a}}$
šė
جة

Accor	Account Details					Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011			Page 5 of 10	f 10
Security no	Security name		CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estmated C	Current yield
	C. AND E. WHEELER FOUNDATION	FOUNDATION										
FIXED INCOME	VCOME											
CORPORA	CORPORATE BONDS											
276402	GENERAL ELEC CAP CORP	5.250% 10/19/2012	36962G3K8	20,000.000	\$104.58	\$20,915	\$103.495	\$20,699	3.4%	(\$216)	\$1,050 5	5.07%
270595	AMER EXPRESS CREDIT CO	7.300% 08/20/2013	0258M0CY3	15,000.000	\$99.83	\$14,975	\$108.520	\$16,278	2.7%	\$1,303	\$1,095	6.73%
200566	NOVARTIS CAPITAL CORP	02/10/2014	66989HAA6	15,000.000	\$99.89	\$14,984	\$106.987	\$16,048	2.6%	\$1,064	\$618	3.85%
201223	JPMORGAN CHASE & CO	01/20/2015	46625HHP8	15,000.000	\$101.05	\$15,157	\$103.680	\$15,552	2.6%	\$394	\$555	3.57%
201600	BERKSHIRE HATHAWAY INC	02/11/2015	084670AV0	15,000.000	\$100.09	\$15,013	\$106.013	\$15,902	2.6%	\$888	\$480 3	3.02%
200567	PROCTER & GAMBLE CO	02/15/2015	742718DM8	15,000.000	\$99.58	\$14,937	\$107.680	\$16,152	2.7%	\$1,215	\$525	3.25%
200657	PFIZER INC 03/1	03/15/2015	717081DA8	15,000.000	\$99.87	\$14,981	\$113.113	\$16,967	2.8%	\$1,986	\$802	4.73%
Total COR	Total CORPORATE BONDS					\$110,962		\$117,598	19.4%	\$6,634	\$5,125 4	4.36%
INTERNAT	INTERNATIONAL BONDS											
600464	SHELL INTERNATIONAL FIN	03/21/2014	822582AF9	15,000.000	\$99.97	\$14,995	\$107.480	\$16,122	2.7%	\$1,126	\$600	3.72%
604471	EKSPORTFINANS ASA	05/25/2016	28264QV27	10,000.000	\$89.99	\$9,999	\$80.990	\$8,099	1.3%	(\$1,900)	\$237	2.93%
Total INTE	Total INTERNATIONAL BONDS					\$24,994		\$24,221	4.0%	(\$774)	\$837	3.46%
TAXABLE	TAXABLE MUNICIPAL BONDS											
310859	NJ ECON DEV AUTH TAXABLE	09/01/2014	645918ZB2	10,000.000	\$100.00	\$10,000	\$102.070	\$10,207	1.7%	\$207	\$316	3.10%
Total TAX	Total TAXABLE MUNICIPAL BONDS					\$10,000		\$10,207	1.7%	\$207	\$316	3.10%
Total FIXE	Total FIXED INCOME					\$591,417		\$606,396	100.0%	\$14,976	\$18,676	3.08%
LARGE	LARGE CAP CORE - U.S.											
INFORMA	INFORMATION TECHNOLOGY											
842450	INTERNATIONAL BUS MACHINES	VES	459200101	15.000	\$180.87	\$2,713	\$183.867	\$2,758	3.5%	\$44	\$45	1.63%
851360	MICROSOFT CORP		594918104	285.000	\$25 39	\$7,237	\$25.958	\$7,398	9.5%	\$161	\$228	3.08%
886611	WESTERN UNION CO		959802109	150.000	\$16.37	\$2,455	\$18.260	\$2,739	3.5%	\$283	\$48	1.75%
902312	ACCENTURE PLC CL A		G1151C101	55.000	\$54.60	\$3,003	\$53.218	\$2,927	3.7%	(\$75)	\$74	2 53%
Total INFC	Total INFORMATION TECHNOLOGY					\$15,408		\$15,822	20.2%	\$413	\$395	2.50%
INDUSTRIALS	ALS											,

Market prices are updated nightly and therefore will not reflect pricing changes made intraday. As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

	1
	ì
	\overline{z}
	J
	•
	4
	\succeq
	a
į	
	e

Ассо	Account Details			M A T	Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011		`	Page 6 of 10	1 01
Security no	Security name C. AND E. WHEELER FOUNDATION	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Cur annual income	Current yield
LARGE	LARGE CAP CORE - U.S.										
INDUSTRIALS	ALS										
833750	GENERAL DYNAMICS CORP	369550108	25.000	\$62.52	\$1,563	\$66.400	\$1,660	2.1%	\$96	\$47 2.8	2.83%
Total INDUSTRIALS TELECOM SERVICE	Total INDUSTRIALS TELECOM SERVICES				\$1,563		\$1,660	2.1%	96\$	\$47 3.4	3.49%
815785	CENTURYLINK INC	156700106	55.000	\$37.25	\$2.049	\$37,200	\$2.046	2.6%	(£3)	2150 77	7 77%
Total TELE	Total TELECOM SERVICES				\$2.049		\$2,046	2 6%	(83)	1	3 66%
HEALTH CARE	ARE							e i	(24)		2
843800	JOHNSON & JOHNSON	478160104	20.000	\$63.10	\$3,155	\$65.580	\$3,279	4 2%	\$123	\$114 3.4	3.48%
881943	UNITEDHEALTH GROUP INC	91324P102	. 60.000	\$44.38	\$2,663	\$50.667	\$3,040	3.9%	\$376	\$39 1.2	1.28%
Total HEA	Total HEALTH CARE				\$5,818		\$6,319	8.1%	\$499	\$153 2.4	2.44%
FINANCIALS	S.I.										
986524	ACE LIMITED	H0023R105	110.000	\$49.72	\$5,469	\$70.118	\$7,713	%6.6	\$2,244	\$206 2.6	2.67%
Total FINANCIALS	INCIALS				\$5,469		\$7,713	9.6%	\$2,244	\$206 3.	3.58%
CONSUME	CONSUMER STAPLES						.				:
822151	CVS/CAREMARK CORP	126650100	90.000	\$37.82	\$3,404	\$40.778	\$3,670	4.7%	\$265	\$58 1.5	1.58%
Total CON	Total CONSUMER STAPLES				\$3,404		\$3,670	4.7%	\$265	\$58 2.	2.50%
MATERIALS											
832563	FREEPORT-MCMRN CPPR&GOLD	35671D857	70.000	\$37.71	\$2,640	\$36.786	\$2,575	3.3%	(\$65)	\$70 2	2 72%
857450	NEWMONT MINING CORP	651639106	90.000	\$63.44	\$5,710	\$60.000	\$5,400	%6.9	(\$308)	\$126 2	2 33%
Total MATERIALS	ERIALS				\$8,350		\$7,975	10.2%	(\$374)	\$196 2.4	2.43%
CONSUME	CONSUMER DISCRETIONARY										
805329	COMCAST CORP CL A NEW	20030N101	150.000	\$21.27	\$3,190	\$23.707	\$3,556	4.5%	\$366	\$67 1.8	1.88%
814456	CARNIVAL CORP CL A	143658300	125.000	\$31.61	\$3,951	\$32 640	\$4,080	5.2%	\$128	\$125 3.0	3.06%
848064	MACY'S INC	55616P104	35.000	\$30.31	\$1,061	\$32.171	\$1,126	1.4%	\$65	\$14 1.3	1.24%
850175	MCGRAW-HILL COMPANIES INC	580645109	45.000	\$43.29	\$1,948	\$44.956	\$2,023	2.6%	\$75	\$45 2.3	2.22%
											,,

Market prices are updated nightly and therefore will not reflect pricing changes made intraday. As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

Report run on Apr 26, 2012 by FINN Version GP8 4,1 2

	ı
V	ı
	ı
	ı
e	
e	

Acco	Account Details			R A E	Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	2011		`	Page 7 of 10
Secunty no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated Current annual income yield
	C. AND E. WHEELER FOUNDATION									
LARGE	LARGE CAP CORE - U.S.									
CONSUME	CONSUMER DISCRETIONARY									
878468	TARGET CORP	87612E106	65.000	\$52.23	\$3,395	\$51.215	\$3,329	4.3%	(\$9\$)	\$78 2.34%
888827	YUM BRANDS INC	988498101	100.000	\$54.72	\$5,472	\$59.010	\$5,901	7.5%	\$428	\$114 1.93%
Total CON	Total CONSUMER DISCRETIONARY				\$19,017		\$20,015	25.6%	966\$	\$443 2.38%
ENERGY										
819413	CONOCOPHILLIPS	20825C104	20.000	\$68.35	\$1,367	\$72.850	\$1,457	1 9%	\$89	\$52 3.57%
848843	MARATHON OIL CORP	565849106	90.000	\$25.87	\$2,328	\$29.267	\$2,634	3.4%	\$306	\$54 2.05%
901258	NOBLE CORPORATION	H5833N103	20.000	\$34.50	\$1,725	\$30.220	\$1,511	1.9%	(\$214)	\$29 1.92%
Total ENERGY	RGY				\$5,420		\$5,602	7.2%	\$181	\$135 3.88%
UTILITIES										
823500	DETROIT ENERGY CO	233331107	40.000	\$50.50	\$2,020	\$54.450	\$2,178	2.8%	\$157	\$94 4.32%
828398	EXELON CORP	30161N101	60.000	\$43.18	\$2,591	\$43.367	\$2,602	3.3%	\$10	\$126 4.84%
831264	FIRSTENERGY CORP	337932107	60.000	\$43.55	\$2,613	\$44.300	\$2,658	3.4%	\$44	\$132 4.97%
Total UTILITIES	JTIES				\$7,224		\$7,438	9.5%	\$211	\$352 4.19%
Total LAR	Total LARGE CAP CORE - U.S.				\$73,722		\$78,260	100.0%	\$4,528	\$2,144 2.74%
LARGE	LARGE CAP CORE - NON U.S.									
INDUSTRIALS	ALS		į							
900927	EAST JAPAN RAIL ADR	273202101	600.000	\$10.20	\$6,120	\$10.613	\$6,368	6 7%	\$248	\$114 1.79%
904803	DEUTSCHE POST AG ADR	25157Y202	220.000	\$14.81	\$3,258	\$15.418	\$3,392	3.6%	\$134	\$197 581%
905419	ABERTIS INFRAESTR ADR	003381100	125.000	\$7.41	\$926	\$8.008	\$1,001	1 0%	\$74	\$81 8.09%
919005	KON PHILIP ELEC ADR	500472303	55.000	\$18.38	\$1,011	\$20.945	\$1,152	1.2%	\$140	\$52 4.51%
927371	ITOCHU CORP ADR	465717106	100.000	\$19.47	\$1,947	\$20.320	\$2,032	2.1%	\$85	\$53 2.61%
Total INDI	Total INDUSTRIALS				\$13,262		\$13,945	14.6%	\$681	\$497 3.49%
TELECON	TELECOM SERVICES						3		i	
901909	CHINA TELECOM ADR	169426103	105.000	\$60.47	\$6,349	\$57.124	\$5,998	6.3%	(\$350)	\$103 1.72%

Market proces are updated nightly and therefore will not reflect pricing changes made intraday As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

Report run on Apr 26, 2012 by FINN Version GP8 4 1 2

	4
	I
	\Box
	3
	a
	IJ
	9
0	3

Page 8 of 10

Report dated December 30, 2011

Acco	Account Details			x ∢ ⊢	Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Frade date basis	2011		`	Page 8 of 10	
Security no	Security name C. AND E. WHEELER FOUNDATION	CUSIP/ ISIN/ SEDOL	Shares/ units s	Average cost per share/unit	Cost pe	Market value per share/unit	Market value	Percent of asset L class (Unrealized gain/(loss)	Estimated Current annual income yield	t P
LARGE	LARGE CAP CORE - NON U.S.										
TELECON	TELECOM SERVICES		~								
905422	TELE2 AB ADR	87952P307	225.000	\$9.50	\$2,137	\$9.764	\$2,197	2.3%	\$60	\$78 3.55%	۱%
933905	SK TELECOM ADR	7840P108	150.000	\$14.27	\$2,140	\$13.607	\$2,041	2.1%	(66\$)	\$109 5.34%	1%
Total TEL	Fotal TELECOM SERVICES				\$10,626		\$10,236	10.7%	(\$389)	\$290 3.66%	1%
HEALTH CARE	CARE										
907989	SANOFI - ADR	80105N105	90.000	\$32.94	\$2,965	\$36.533	\$3,288	3.4%	\$323	\$119 3.62%	۱%
924978	MERCK KGAA ADR	589339100	45.000	\$31.27	\$1,407	\$33.311	\$1,499	1.6%	\$92	\$17 1.13%	%
958901	TEVA PHARM INDS LTD ADR	881624209	85.000	\$38.56	\$3,278	\$40.353	\$3,430	3.6%	\$152	\$66 1.92%	%
Total HE	Total HEALTH CARE				\$7,650		\$8,217	8.6%	\$567	\$202 2.44%	%
FINANCIALS	STK								:		
900901	MUNICH RE GROUP ADR	626188106	250.000	\$11.78	\$2,945	\$12.304	\$3,076	3.2%	\$130	\$154 5.01%	%
904004	CHINA CONSTRUCTION ADR	168919108	300.000	\$13 99	\$4,197	\$13.957	\$4,187	4.4%	(\$10)	\$161 3.85%	8
905386	SUNCORP GROUP ADR	86723Y100	175.000	\$8.17	\$1,430	\$8.589	\$1,503	1.6%	\$72	\$53 3.53%	%
905424	NORDEA BK SWEDEN AB ADR	65557A206	400.000	\$7.58	\$3,031	\$7.768	\$3,107	3.3%	\$76	\$130 4.18%	%
905438	WHARF HOLDINGS ADR	962257200	275.000	\$9.78	\$2,689	\$9.036	\$2,485	2.6%	(\$203)	\$63 2.54%	%
906209	BARCLAYS PLC ADR	06738E204	200.000	\$10.09	\$2,018	\$10.990	\$2,198	2.3%	\$179	\$70 3.18%	%
914068	ALLIANZ AKTIENGES ADR	018805101	150.000	\$9.51	\$1,427	\$9.593	\$1,439	1.5%	\$11	\$72 5.00%	ا ي
968662	SUMITOMO MITSUI FIN ADR	86562M209	375.000	\$5.39	\$2,022	\$5.509	\$2,066	2.2%	\$44	\$86 4.16%	<u>%</u>
Total FIN	Total FINANCIALS				\$19,759		\$20,061	21.0%	\$299	\$789 3.58%	%
CONSUM	CONSUMER STAPLES	ı									-
900061	AB FOODS LTD ADR	045519402	250.000	\$17.42	\$4,355	\$17.204	\$4,301	4.5%	(\$54)	\$88 2.05%	%
926008	IMPERIAL TOBACCO LT ADR	453142101	45.000	\$70.49	\$3,172	\$75.667	\$3,405	3.6%	\$233	\$138 4.05%	%
933964	KON AHOLD ADR	500467402	225.000	\$12.68	\$2,852	\$13.507	\$3,039	3.2%	\$186	\$78 2.57%	%
962458	UNILEVER NV ADR	904784709	90.000	\$32.31	\$2,908	\$34.367	\$3,093	3.2%	\$184	\$94 3.04%	<u>%</u>
967819	AJINOMOTO INC ADR	009707100	15.000	\$119.00	\$1,785	\$120.067	\$1,801	1.9%	\$16	\$26 1.44%	%
Total CO	Total CONSUMER STAPLES				\$15,072		\$15,639	16.4%	\$565	\$424 2.50%	%.

Market prices are updated nightly and therefore will not reflect pricing changes made intraday. As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

Report run on Apr 26, 2012 by FINN Version GP8 4 1,2

	₹.
	\equiv
	•
	_
	a
	$oldsymbol{\Phi}$
	9
н	
ı	

Accor	Account Details				Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	, 2011		`	Page 9 of 10	f 10
Security no	Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Cost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estmated (Current yield
	C. AND E. WHEELER FOUNDATION										
LARGE (LARGE CAP CORE - NON U.S.										
MATERIALS	S.										
802483	BARRICK GOLD CORP	067901108	70.000	\$47.80	\$3,346	\$45.243	\$3,167	3.3%	(\$179)	\$28	0.88%
901454	AKZO NOBEL NV ADR	010199305	25.000	\$44.04	\$1,101	\$48.480	\$1,212	1.3%	\$111	\$41	3 38%
904977	BHP BILLITON PLC-ADR	05545E209	000'09	\$56.28	\$3,377	\$58.383	\$3,503	3.7%	\$125	\$121	3.45%
Total MATERIALS	ERIALS				\$7,824		\$7,882	8.3%	\$57	\$190	2.43%
CONSUME	CONSUMER DISCRETIONARY										
848349	MAGNA INTL INC CL A	559222401	50.000	\$33.42	\$1,671	\$33.300	\$1,665	1.7%	(\$2)	\$72	4.32%
Total CON	Total CONSUMER DISCRETIONARY				\$1,671		\$1,665	1.7%	(\$2)	\$72	2.38%
ENERGY											
915019	ENI S.P.A. ADR	26874R108	140.000	\$42.15	\$5,901	\$41.264	\$5,777	6.1%	(\$123)	\$286	4.95%
948208	SINOPEC/CHINA PETE&CHM ADR	16941R108	30.000	\$102.10	\$3,063	\$105.033	\$3,151	3.3%	\$88	\$94	2.98%
959209	TOTAL SA ADR	89151E109	70.000	\$48.93	\$3,425	\$51.100	\$3,577	3.7%	\$152	\$188	5.26%
Total ENERGY	RGY		:		\$12,389	u.	\$12,505	13.1%	\$117	\$568	3.88%
UTILITIES											
600767	SSE PLC ADR	78467K107	50.000	\$20.04	\$1,002	\$20.060	\$1,003	1.1%	\$0	\$57	5.68%
901986	GDF SUEZ ADR	36160B105	40.000	\$25.42	\$1,017	\$27.400	\$1,096	1.1%	\$79	\$60	5.47%
905429	TOKYO GAS LTD ADR	889115101	70.000	\$43.23	\$3,026	\$46.000	\$3,220	3.4%	\$194	\$66	2.05%
Total UTILITIES	.ITIES				\$5,045		\$5,319	2.6%	\$273	\$183	4.19%
Total LAR	Total LARGE CAP CORE - NON U.S.				\$93,298		\$95,469	100.0%	\$2,165	\$3,215	3.37%
LARGE	LARGE CAP STRATEGIES										
LARGE CA	LARGE CAP STRATEGIES FUNDS										
943344	OW LARGE CAP STRATEGIES FD	680414109	30,304.707	\$9 95	\$301,475	\$8.770	\$265,772	100.0%	(\$35,702)	\$303	0.11%
Total LAR	Total LARGE CAP STRATEGIES FUNDS				\$301,475		\$265,772	100.0%	(\$35,702)	\$303	0.11%
Total LAR	Total LARGE CAP STRATEGIES				\$301,475		\$265,772	100.0%	(\$35,702)	\$303	0.11%
GLOBAI	GLOBAL SMALL & MID CAP										,

Market prices are updated nightly and therefore will not reflect pricing changes made intraday. As a result there may be instances where market price information may differ from other Bessemer reporting systems that utilize finalized market prices.

Report run on Apr 26, 2012 by FINN Version GP8 4 1,2

	₹.)
	7	7
		•
	k	d
	_	
	\equiv	
	•	
	Ū	
		-
	1	-
	Take I)
	7	7
	7	7
ð	G.)
ŕ	\Rightarrow	7

Account Details				Report dated Decer Amortized tax cost Trade date basis	Report dated December 30, 2011 Amortized tax cost Trade date basis	0, 2011			Page 10 of 10 ,	of 10
Secunty no Security name	CUSIP/ ISIN/ SEDOL	Shares/ units	Average cost per share/unit	Sost	Market value per share/unit	Market value	Percent of asset class	Unrealized gain/(loss)	Estimated annual income	Current yield
C. AND E. WHEELER FOUNDATION										
GLOBAL SMALL & MID CAP										
GLOBAL SMALL & MID CAP FUNDS										
905637 OW GLOBAL SML & MID CAP FD	680414604	28,407.270	\$10.33	\$293,562	\$13.470	\$382,645	100.0%	\$89,083	\$2,698	0.71%
Total GLOBAL SMALL & MID CAP FUNDS	;			\$293,562		\$382,645	100.0%	\$89,083	\$2,698	0.71%
Total GLOBAL SMALL & MID CAP				\$293,562		\$382,645	100.0%	\$89,083	\$2,698	\$2,698 0.71%
GLOBAL OPPORTUNITIES										
GLOBAL OPPORTUNITIES FUNDS										
943328 OW GLOBAL OPPORTUNITIES FD	680414802	47,675.143	\$7.44	\$354,486	\$6.780	\$323,237	100.0%	(\$31,249)	\$18,831	5.83%
Total GLOBAL OPPORTUNITIES FUNDS	į			\$354,486		\$323,237	100.0%	100.0% (\$31,249)	\$18,831	5.83%
Total GLOBAL OPPORTUNITIES				\$354,486		\$323,237	100.0%	100.0% (\$31,249)	\$18,831	5.83%
REAL RETURN/COMMODITIES										
REAL RETURN FUNDS										
860093 OW REAL RETURN FUND	680414703	20,500.129	\$10.39	\$213,079	\$9.300	\$190,651	100.0%	(\$22,428)	\$4,653	2.44%
Total REAL RETURN FUNDS		i		\$213,079		\$190,651	100.0%	(\$22,428)	\$4,653	2.44%
Total REAL RETURN/COMMODITIES				\$213,079		\$190,651	100.0%	(\$22,428)	\$4,653	2.44%
Total				\$2,293,269		\$2,314,419		\$21,134	\$50,754	\$50,754 2.20%